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GROUP—A
*—aUa

1. From the following alternatives given under
each bit, write senally the correct answer
along with its serial number against
each bit : I[x12=12!
GNAYC 8 9496 gee Qegye auq ¢4

gae efe Qe e, Q0] QAR gYIgHER 6RC @ |

(a) Preference sharcholders get
AGINRINYY °AAGUIRINIES TIUIB
(i) interest [/ <&
1) dividend / QURI°E
(i) salary / 699@
(iv) commission / QAER

(b) Stone quarry is a
gae ¢d 6QIeN

(i) liquid asset
caR 93QMR
fi) current asset
oRa 0QQAR
(iii} wasting asset
ﬂﬁg alQaR
Jf fictitious asset

QIgae adand
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(c) Prepaid insurance is a/an
gégen 1Al 6298 64ICN
(i) expense
5 19

(ii) asset
QAN

{j{fincome

29

(iv) liability
Qg

(d) Outstanding Rent Account is a

QeQdl VK¢l 2QIe 6208 6916

(i) Personal Account
QugQew ¥aIe

(ii) Real Account
QIge and 8QIQ

(iti) Fictitious Account
QIgae QI

Wiv} Represcentative  Personal  Account
geIe gqee wae
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(e} Expenditure on installation of a new

machinery, is a

6QITN OR JRAIBA 2GR G1P 6298 19

(i) revenue expenditure
aé QY

pital expenditure
JHAS QUL

(i) revenue receipt
26Q&9e 9Ig

(iv) capital reccipt
Q&ee 919

() Depreciation is charged on

AMIZIA QIF QAR NG RAIAIG, IV

62QR

<~ current asset
R3S OQQAR

]({:'i) liquid asset
A YALAR

(i) fictitious asset
QFRR 9Qnd

(iv) fixed asset
di1 Qf
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(g) Income and Expenditure Account
reveals

210 B QG FAIQ g9 Q62
(i) profit
mIe
(1) loss
Q0
\(rtﬁ excess of income over expenditure
Q40 QA6Q KA AR
(iv) capital
QB
(h) Donation received for conducting a
health camp, 1s

caITY QIgY 9@ Q}Q Al AT QAR
260 9@
(i) income
2l
(i) expenditure
QU

(iv) liability
o}
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() When depreciation is charged under
diminishing balance method, the
amount of depreciation

6Q606Q6R FIANIR SRR GAINER NLIQ
QRUAN, LA QU

(i) remains constant
4o Q6w

(i) decreases year after year
edg od gi@ aid

Ati) increases year after year
Qdg @8 9f aig

fiv) increases and decreases
Q8 aId 9e° QA AId

() Trading Account reveals
QIR QIS gRT QA2

(i) cost of goods manufactured
QQIGe YQ N9

(ii) gross profit
ge MW

£(iij) net profit
qc Qe

(iv) appropriation of profit
QUOQLNISE
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(k) Debenture holders get
QaagUIRAIEE QIAIB

(ij profit
M

(ii) salary
6968

Jii) interest
Q-

(iv) commission
QAaR

() Receipts and Payments Account 1S
prepared in licu of

gi§ 6 geIf QIS QIR UREA JYT 62
a4, ©Igl 6298

(i) Profit and Loss Account
QIR 6 8¢ ZaIk

(y"} Manufacturing Account
7/ qQes Q9

(iij) Trading Account
NIV} LQIQ

iv) Cashbook
CRIRG-9%
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2. Answer the following questions as per
instructions given under each part and bit -

1x12=
QE0Ie RUGEa gQ8 AQELE oIeR 2AYe
9496eQ Qaa Q :

(a) Answer the following questions in one
word/term each :

FORAYS Q6019 Q99 QR 6QITd dQ/
QQ6Q QU

() Name the account to which the

balance of Income and Expenditure
Account 1s transferred.

210 G QB LA SRR 6QQ 2QAISq
AR @AY, QIR QN *'Q?

(1) Which  additional account is
opcned, in addition to the Capital

Account, when the capitals are
fixed?

& 99 QLA6M, QB TAQ AC AWM
6QQ 2009 QAR EHINIAN?

(i) Which ratio is calculated when a
partner rectires?

P68 QAINIQ 2QAQ ERA QANAER
6R% 2QAI0 A¢a QAAIRAIN?
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(b) Answer the following questions within
one sentence each :

g6ciaq 691G QIQYea QNG QY FOAYS
geqgeea Qe Q¥ :
(iv) What is authorised capital?

qQIRIQe Q& @'4?

(vy Why is a Revaluation Account
prepared?
QreRuIaR e Qe gge
RQALIIN?

(i) Define partnership.
QAN A°Bl gL @

(c) Correct the underlined portions of the
following sentences

FARYE  QANPERY QNI  2°aq
QCIRS QA :

(i) Mine is a current asset.
I8 6QIGY 93 9QAMR 26T

(viti) Outstanding subscription is an
income.
QEQDI QIR 6QITT 210 26T

(x) Annual repair to an existing
building is a capital expenditure.
Q8! 6R0IRIPQ AT AQAT
R QBAS QY9 PIRG|
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(d) Fill in the blanks of the following
sentences :

Q0AYe QNGERa gMigie 998 @Q .

(x) Calls-in-arrear is afan ____ .
Q6RO Qe _ AT

(i) Under fixed capital method,
Capital Accounts always show
balance.

do Q& gaeq g& LQAIe QAW
QRQl QEIRAN|
(xii} Additional expenditure on

extension of an existing building
is a expenditure,

691G PAISR 6RI0IQ APAIRE
N[ NG 269!

GROUP—B
g—aue

3. Answer any ten of the following
questions within 30 words each : 2x10=]

geciag qo% ae Auca ARG QY FaRge
gqqee AuQ 6A6Rld QATQ Qea G :

(a) What is ‘sacrificing ratio’?
QY19 2QC
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(b)

(c)

(d)

(e)

(g)

(h)

(1)

(11 )

What is meant by ‘bad debt’?
'YRIERA’ HICR QWEm @'§ QRINT

What do you mean by ‘entrancc fee'?
'geRdRl QIR QTR *'a 987

Write any two factors to be considered
for calculating depreciation.

QR4 IQ Fga FRLIAIR FIRg FAUIDINYS!
6A6RIEA 9RE QAR 6R

What do you mean by ‘calls-in-
advance’?

‘29190-9Ig-2IFR’ LR @8 987
What is ‘depreciation’?

‘IRYgIQT @a?

What is ‘subscribed capital’?
‘20ee 4B @'a?

What adjustment entry is necessary
for ‘outstanding cxpenses’?

‘6RO QB AR 609 QAAICAIRR gRT
21994 6XIRAN?

What is the meaning of ‘legacy’?
‘Yd'e Y Q6
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() How is ‘specific donation’ treated in |
accounts?

aGq Qe 2R @A QAIAN?

(k) What do you mean by ‘residual value’
of an asset? https://www.odishaboard.com

4@ 05QRAQ '296a8 Ny QRER Q'd
QR ?

() Why is Profit and Loss Appropnation
Account prepared?

AR @ 86 gOIee WIS QTR 9ge
RAUIAIN?

(m) What do you mean by ‘Redeemable
Preference Share'?

‘REAIRNG AFIFIVQYY GG’ Q6N
@ QX7

4. Answer any four of the following questions
within 50 words each : 3x4=

g6eiRg 0% @9 AUER QAIFC Qg Fadye
deq9ee g 6I6Rlad QIeITa Qea o :

(a) Distinguish between Equity Share and
Preference Share (any three).

AU WO ZQRIRINAQ 2°9499
QUEQ QI



( 13 )

(b) What is ‘capital fund’'?
' a§’ *@'a?

() Name the mcthods of valuation of
goodwill.
QeIF MNIBEQ 9QaIRIQEea QI 6Rel

What is ‘pro rata’ allotment of shares?
J°'9ULQ ‘QAQAITR’ AI99R Q'Q?

(e) Distinguish between Balance Sheet
and Statement of Affairs (any three).
QYR dg 9 AR FO Teea fuea
Qe 4l (606193 GeRIT)I

() What is ‘deferred revenue expenditure’?

2GS AYEHAC ML’ *'@?

GROUP—C
O—aRAUA

answer any three of the following questions :
8x3=24

DAY gaqee aug 6a6Rlad GerIga Qaq dY -

5. Distinguish between Single-entry system
and Double-entry system of book-keeping.

2QIe RuRe Iee-g<Y] A8C G 630-938 aad
Aueq QIgiey @4l
.,207'A {f Thirm Nhae )
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( 14 )

between Receipts and

Distinguish income  and

Payments Account and
Expenditure Account.

gig 6 goIe 2QAIT 9e° UG 3 Qya QI QU6
Qigiey eaIal

A Ltd. issued 80000 Equity Shares of ?'.10
each to the public, payable on application
¢ 2 per share, on allotment # 3, on lst call
3 and on second and_final call ¥2 per
share. Applications = were received _for

100000 shares which were allotted on pro

rata basis. All money due, were received
ith the exception of final call on 2000

shares.

Pass Journal Entries to record the above
transactions in the books of the company.

A @ 29 9C T10 QIEQ 80000 QARIQE
2°80G QARARNAEE AAQF AR YORE Q6A,
QIR QAR @ 2I6TAR ANAER T2, 2I99Q
AA06x T3, JaAN AIRNER T3 B eIa QI
28N YKNERQ T2 QQ 691 AR 100000
2808 IR 26eer JRAI QLR QAIQAIBe
G868 198 QAIGAII 6999 2000 2°6AE
QA6Q A AR AT eI ANg 28 gIg
(XAl

QAR YRR QAACAIQ LIV AR FEIT GIF
ol P
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urchased a machinery for ¥ 5,00,000.
& cstimated life is 10 years and its
residual value is estimated ‘at € 1,00,000. It
is decided to write off depreciation @ 10%
er annum under diminishing balance

method.
Show the Machinery Account and

Depreciation Account for the first four years.
@@ ¥5,00,0006Q 6915 QRAIG QB @ER
99IQ 21900 QITINIR 10 @F IS° NLIQ AEHT
ZIQRG (Y £1,00,000. IAAIE QR JAINIER
e 10 goae Q16a gAIEIA QAeIq J19E

Al
gain S1aed Qg 9RaIe FAIe 6 QRIFIA 2AIR

gge eal

9. Anu and Binu were partners in a firm
sharing profits and losses in the ratio of
3:2 respectively. Their Balance Sheet on

31.12.2019 was as under :

2q 6 Qg QAGEA 3:2 FAITER AR G Qe
Qg 98 69169 AN QAT QQIYER
31.12.2019 GI@¢6Q 6QAIGT QA9 09

F066 Ml
Liabitities ( 8) ¢ Assets (0Qgme) €
Sundry creditors 1,20,000 Cash in hand 50,000
QY AQILR fE¢ OURR
Bills payable 30,000 Cash at bank 1,.90,000
(479 Qﬁ NS CRea
Reserve fund 2,10,000 Bills reccivable 90,000
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Liabilities (€/8) ¢ Assets (0anR) €
Capitals : . Sundry dcbtors  2,10,00
bS] QY o
Anu 6,00,000 Closing stock 2,70,00
g sy QA
Binu 4,80,000 10,80,000 Furniture 70,00/
q 21QQ1S
Machinery 5,60,00(
QRAIG
14 .40.000 14.40.0

On the above date, they admitted Chinu as
a partner for one-fourth share in future
profit. Chinu brought ¥ 3,00,000 as capital
and € 90,000 towards his share of goodwll.
For this purpose, closing stock was valued
at € 3,00,000; furniturc at 60,000 and
machinery at € 5,20,000.

Pass Journal Entries for the above
transactions and prepare the opening
Balance Sheet of the rcconstituted firm.

QACAIY GITGIER, 6AAEK TP €68 A
QUES GUE Q6R, VNG VVIC NV IR-CQEIr
QAR g Q& Q9QQ ¥ 3,00.000 9e* GIF QA
gaIN QI9QQ £ 90,000 IGER] I8 QETGH6R, 25y
QAIQ ¥ 3,00,00069, AL/ ¥ 60,0006Q I
QRAIG ¥ 5,20,00061 YRYIDC ERIRYM!I

Q09 AYC QAR AN FIEET GIF AP 1
Qee0e QyeQin gbgIre GQgR 98 9ge eal

* * *
20H (207-A) - 803 R/E/DE(R/E)
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